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Healith Assisting

25.

When does the release
of a medical record
become legal?

C is correct because the patient must
provide his or her signature in order for the
release of medical records to be legal.

A is incorrect because the release of a
medical record is not legal once it is
notarized.

B is incorrect because the release of a
medical record is not legal with the doctor's
signature.

D is incorrect because the release of a
medical record is not legal once the
insurance company is notified.

Health Assisting

26.

A health assistant turns
a computer screen
away from a family in
the doctor’s office. This
behavior is most
consistent with

D is correct because protecting a patient’s
privacy by turning a computer screen away
from a family in a doctor’s office is most
consistent with HIPAA guidelines.

A is incorrect because this behavior is not
consistent with OBRA, which Is associated
with the Federal Nursing Home Reform Act.

B is incorrect because this behavior is not
consistent with WHO, the World Health
Organization.

Cis incorrect because this behavior is not
consistent with APHA, the American Public
Health Association, which consists of public
health professionals.

48

Section 5: Sample Questions and Answer Key

Section 4: Study Checklists

Multiple Choice Test Study Checklists

This secticn contains "Study Checklists" for each standard. These checklists will give
you more information about the test questions and help you to focus your studying.

Standard 1: First Aid and General Safety

Do you know how to:

_____ Recognize and demonstrate appropriate first aid and emergency techniques
{e.g., CVA, heat exhaustion)
_____ Differentiate signs and symptoms requiring emergency care
_ Recognize and demonstrate fire safety and general safety procedures involved
in patient care (e.g., RACE, PASS)

Recognize and demonstrate procedures for handling waste and hazardous
materials (e.g., disposal of biohazardous waste, disposal of suture removal
scissors)

Recognize signs, symptoms, and reporting mandates for violent and/or
abusive situations

Recognize and demonstrate infection control measures, including standard
precautions, hand washing techniques, isolation, and personal protective
equipment [PPE) (e.g., immunization, preparatory procedure)}

Things | Need to Focus On:

11 Section 4: Study Checklists
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Hezlth Assisting

Health Assisting

22

Blurred vision and
reduced hearing in an 82-
year-old patient might be
dueto

A is correct because blurred vision and
reduced hearing in an 82-year-old
patient might be due to degenerative
changes.

B is incorrect because dementia is a loss
of brain function and includes the loss of
language, memory, and perceptions.

Cis incerrect because Alzheimer’s
disease is a type of dementia that causes
problems with memory, thinking, and
behavior.

D is incorrect because ostecporosis is a
disease where bone mass and tissue
weakens, leading to fragile bones.

Section 5: Sample Guestions and Answer Key

Standard 3: Body Systems

Identify and interpret anatomical terms including body cavities (e.g., location

of heart and lungs, proximal}

identify normal structures and functions within body systems (e.g.,

integumentary system, long shaft of a bone)

Identify abnermal structures, functions, signs, and symptoms within body
systems

Things | Need to Focus On:

13 Section 4: Study Checklists
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Health Assisting

QObservation and Communication

Question Correct | Explanation
Answer
18. | The best way for a health C Cis correct because the best way for a
assistant to confirm the health assistant to confirm the identity
identity of a patient is to of a patient is to check the patient’s
name band.

Ais incorrect because the patient in the
neighboring room might not provide
accurate information.

B is incorrect because confirming the
patient’s name on the chart is not the
most effective way to ensure the
identity of the patient.

Dis incorrect because checking the
room number is not the most effective
way to ensure the identity of the
patient. Checking the patient’s name
band is less likely to result in error.

19, | How is 4:20 p.m. B B is correct because 4:20 p.m. is
expressed in military expressed in military time as 1620. To
time? arrive at this number, add 4 hours and

20 minutes to 12:00 pm,

A is incorrect because 4:20 p.m. is not
expressed in military time as 0420.

Cis incorrect because 4:20 p.m. is not
expressed in military time as 2020.

D is incorrect because 4:20 p.m. is not
expressed in military time as 2420,

Health Assisting

a2 Section 5. Sample Questions and Answer Key

Standard 5: Documentation and Legal/Ethical Issues

Do vou know how to:

Identify legal and ethical issues of concern for a health assistant {e.g.,
negligence}

Demonstrate understanding of confidentiality, HIPAA regulations, professional
behaviors, guidelines, and legal practices of a health assistant (e.g., release of
medical record with signature, medical consent forms}

tdentify policies and procedures available for reporting legal/ethical concerns
and issues

Demonstrate accurate documentation procedures {e.g., inaccurate charting
entry, when to complete documentation)

Things | Need to Focus On:

15 Sectlon 4: Study Checklists
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Health Assisting

15.

16.

What is most serious
when a patient falls?

An injury that results
from overstretching a
ligament at a joint is a

B is correct because slurred speech and a
weakness on one side could indicate that
the patient has suffered a stroke, and
emergency aid should be sought for the |
patient,

A is incorrect because although in this
case, the patient should be checked for
serious injury such as a broken bone, this
is not the most serious sign listed,

Cis incorrect because although in this
case, the patient should be checked for
serious injury such as a broken hone, this
is not the most serious sign listed.

D is incorrect because although in this
case, the patient should be checked for
serious injury such as a broken bone, this
is not the most serious sign listed.

A is correct because a sprain is a twisting
or tearing of a ligament at a joint. Signs
and symptoms of a sprain include pain,
tenderness, immobility, and bruising.

8 is incorrect because a spasm is an
involuntary contraction of a muscle. Signs
and symptoms of a spasm are cramping
and pain.

Cis incorrect because a dislocation is
movement of a bone from a joint. Signs
and symptoms of dislocation are pain,
immobility, and deformity.

Health Assisting

D is incorrect because a strain is the
overstretching of a muscle or tendon.
Signs and symptoms of a strain are pain
and swelling.

Section 5: 5ample Questions and Answaer Key

Performance Test Checklists

Performance Checklists are included below with one for each performance job. These
checklists will give you more information about the performance jobs and help you to
focus your studying.

JOB 1: Hand Washing and Personal Protective Equipment (PPE)

Do you know how to:

Wash hands correctly?
Correctly don PPE?

Things | Need to Focus On:

17 Section 4: Study Checklists




£al JamsUY PUE SUONISAND o]0wes 14 uondas

6E

SISIHIBUT APMIS P UONTES

1)

saunful jleuids

AqQ pasned AjesausB st sisAjesed yong
‘uMOp Ss1ap|noys ayl woJ) Aliewxoidde
pazAiesed 51 oym uossad e 0}

ss3424 eidapdupenb asnesaq Passodul s1 g

"Apanae

JBIPJED JO UOHESSEd Atelodwa) pue
|euonUSIUL DY) JO 515I5U0D pue Asadins
Je|pJed ul pasn Ajuewwd sinpadcad e 03
sJaja) e133)doipied 55neasq Paslodul si g

sauniu

|euds Ag pasne2 Ajjesaua s ydym ‘umop
151em 3U) Ajalewnxosdde woyy stsAjered

01 5J3y3J e;8zjdeied asneddq 1391100U] §1 Y

“Apoq s,uossad e
40 3p1s Y31 Jo Yot Yy s2YUs uo sisAjesed
01 5132, e1da|diway asnedaq PaLoI sI D

woi Fuayns

st yAD € wed Bunjnsar
apis Ya| 3y Jo sy uo
sishjesed yym Jusied v

¥I

*anssiy Jo
yimoad ajejdwoou) Jo Juawdo(@aapispun
ue s1 ejse|dodAy asneraq 1034400 §1 g

anssii 4O YImos3
Mau e s| wsejdosu e asNEIAY 1034I0UL S| D

"$|95SDA
pOO|q PUE HEAY DY} SB YINS ‘SAINUARD
10 suedlo sau) 3Ry} 5|83 JO SAE| YL
S1 WINIBLYI0PUS 33 3SNEISC 1331400W 1 Y

‘auesguIaw
183 @Y1 AQ Pasojaua ||3) e JO 3JUeISqNS
| 3yist wsejdolAs ayl asnedaq 10303 81 g

Y st|e

4Je3 §||14 PUE JueIquIBU
jI92 3y} Aq PIpUNOLINS
S| 1BY3 @dueisqns syl

1UQ $NI04 0] PaaN | S3uly]

$umod pajios aaowad pue umod Juaied e adueyd

T07 MOY MOLE MDA 0

UMOD JUI0d & IBUBYD 17 8Of

Junsissy yijeaq

Bunsissy yijeap



Health Assisting

Body Systems

Question

Explanation

11

The diaphragm is
to the heart.

B is correct because the diaphragm is
inferior to the heart, meaning that it is
below the heart.

A is incorrect because the term, lateral,
refers to something that is situated or
extending to the side, or that is away from
the midline of the body.

Cis incorrect because the term, medial,
refers to something that is situated close
to the midline of the body.

D is incorrect because the diaphragm is
not superior, or above the heart.

12.

The esophagus is located
in which body systemn?

C is correct because the esophagus is
located in the digestive system.

A is incorrect because the cardiovascular
system includes the heart and networks
of blood vessels that move blood from the
heart to the lungs.

B is incorrect because the endocrine
system includes glands that secrete
hormones directly into the bloodstream
to regulate the body.

D is incorrect because the reproductive
system includes the reproductive organs.

Heaith Assisting

38

Section 5: Sample Questions and Answer Key

JOB 3: Measure Vital Signs, Height, and Weight

Do you know how to:

Gather equipment, identify patient, and explain procedures?
Take a radial pulse, count respirations, and blood pressure?
______ Obtain height and weight?

Things | Need to Focus On:

19 Section 4: Study Checklists
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Health Assisting

Medical Terminology

Question Correct | Explanation
Answer

7. | What abbreviation D D is correct because the abbreviation,
signifies “immediately?” STAT, signifies “immediately.”

Ais incorrect because the abbreviation,
APC, signifies “antigen presenting cell.”

Bis incorrect because the abbreviation,
TPR, signifies “temperature, pulse, and
respirations.”

Cis incorrect because the abbreviation,
TESD, signifies “total end-systolic
diameter.”

8. | Patients who cannot B B is correct because the abbreviation,
have any food or water NPQ, means that a patient is not allowed
are any food or water by mouth. Patients who
are awaiting surgery are usually NPC.

Ais incorrect because PRN means “as
necessary.”

C is incorrect because BID is an
abbreviation for “twice daily.”

D is incorrect because DOA means "dead
on arrival."

9. | The surgical removal of D D is correct because the surgical removal
the gallbladder is known of the gallbladder is known as a
asa cholecystectomy.

A is incorrect because a lobectomy is the
surgical removal of a lobe, such as the
lobe of a lung.

B is incorrect because a gastrectomy is the
surgical removal of all or part of the
stomach.

Cis incorrect because a colectomy is the
surgical removal of all or part of the colon.

36 Section 5: Sample Questions and Answer Key

Health Assisting

*

10Ns an

Section 5: Sample Quest d Answer Ke

Study Guide Questions

Below, and on the pages that follow, are sample questions. These exact questions will
NOT appear on the test, and how well you perform on these questions is not
necessarily a sign of how you will do on the official test. However, the sample
questions WILL help provide an idea of what types of questions are asked on the test
and how they are generally written. For each question below, circle the answer you
think is correct and then check your work with the answer key provided.

First Aid and General Saf

1. A health assistant finds a dressing dripping with blood on the floor while in a
patient’s room. The health assistant shouid

>

. place the bandage in the garbage

B. place the bandage in a red "biochazard” bag

C. inform housekeeping of the need to ¢lean the room
D. inform the head nurse of the location of the bandage

2. A health assistant is helping 2 patient transfer from a bed to a wheelchair. The
patient begins to fall. Which of the following should the health assistant do first?
A. Firmly grab the patient by the arms and guide him or her to the floor.

B. Place a pillow beneath the patient’s head and move furniture away from the
patient.

L. Place their arms arcund the transfer belt, pull the patient close, and lower.
D. Report the incident to the immediate supervisor right away.

3. A health assistant is providing care to a child in a hospital setting. As the health
assistant is leaving the room, the child’s mother tells the health assistant in
confidence that her husband physically abuses both her and the child. The health
assistant should

A. report the conversation to his or her supervisor
B. talk to the husband and encourage him to get counseling
C. talk to the child to see if the mother is telling the truth

D. keep the information confidential as the mother requested

21 Section 5: Sample Questions and Answer Key
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Health Assisting

5. | A health assistant is caring
for a patient who has been
diagnosed with chicken pox.

| What type of transmission-
based precaution should the
health assistant follow when
providing direct care to this
patient?

A is correct because chicken pox is
transmitted through the air,
independent of any moisture in the
patient’s respiratory tract. Airborne
precautions are used for ilinesses such
as tuberculosis, chicken pox, and the
measles. A person who is placed on
airborne precautions would require an
airborne infection isolation room (AlIR).

B is incorrect because droplet isolation
is used with illnesses that are
transmitted via droplets of saliva or
mucous found in the respiratory tract.
These droplets exit the body when the
patient breathes, coughs, or sneezes.
linesses classified as droplet-based
transmission include strep throat,
scarlet fever, rubella, meningitis, and
influenza (the flu).

Cis incorrect because “infectious” is
not a term used to describe a type of
transmission-based precaution,

D is incorrect because contact isolation
is used with iilnesses that are
transmitted through direct contact
with a contagious person, wound,
and/or their personal belongings,
clothing, or bedding. llinesses in this
category include some skin or wound
infections, such as MRSA or
vancomycin-resistant enterococci
{VRE}, gastrointestinal infections, and
some respiratory infections.

Section 52 Sample Questions and Answer Key

Health Assisting

8. Patients who cannot have any feod or water are

A. PRN
B. NPO
C. BID
0. DOA

9. The surgical removal of the gallbladder is known as a
A. lobectomy
B. gastrectomy
C. colectomy
D. cholecystectomy

10. A trauma victim with damage to an eye would be referred to afan
A. ophthalmologist
B. pulmonologist
€. audiologist
D. orthopedist

Body Systems

11. The diaphragm is to the heart.

A. lateral
B. inferior
C. medial
D. superior

12. The esophagus is located in which body system?

A. cardiovascular
B. endocrine

C. digestive

D. reproductive

23 Section 5; Sample Quest.ons and Answer Key
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Health Assisting

A health assistant is providing |
care to a child in a hospital
setting. As the health
assistant is leaving the room,
the child’s mother tells the
health assistant in confidence
that her husband physically
abuses both her and the
child. The health assistant
should

A

Health Assisting

| Ais correct because any time a health Observation and Communication

assistant knows of child abuse, he or

she is required by law to report it. The _ 18. The best way for a health assistant to confirm the identity of a patient is to
| health assistant should follow the oo . .

palicy of the individual facility. In most A. ask the patient in the neighboring room

cases, this policy directs the health i B. confirm the name is on the chart

assistant to report their suspicions to C. check the patient’s name band

their direct supervisor, and it is the

supervisor’'s responsibility to contact
the proper investigating ¥
agency/authorities.

D. check the room number

i N N
Bis incorrect because child abuse must 19, How is 4:20 p.m. expressed in military time?

be reported to the proper authorities. A. 0420
Confronting the husband correctly

B. 1620
could create a dangerous situation for
the mother and child as well as the C. 2020
worker. D. 2420

C is incorrect because the mother’s
statement is enough to warrant
notifying the proper authorities. Also, it
is inappropriate to involve the child in } 5
an attempt to determine the mother’s A. The patient consumed half the meal.

honesty. B. The patient seemed nervous.

20. Which of the following is an example of a subjective observation?

C. The patient’s blood pressure was high,

D is incorr , al " .
is incorrect because, although D. The patient vomited.

confidentiality is important in
healthcare work, the requirement to
report abuse supersedes any need for
confidentiality.

— 21. A patient has fallen while ambufating in the hallway. Which sign indicates the
possibility of a fractured hip?
A. The patient is crying and cold.
B. There is a small cut on the patient’s forearm.
C. The patient’s left foot is externally rotated.
D. The patient is moving the left leg.

32
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Health Assisting

Answer Key

First Aid and General Safety

Explanation

B is correct because a dressing dripping
with blood is considered hazardous
material and should be disposed of in a
red “bichazard” bag.

Ais incorrect because a dressing
dripping with blood is considered
hazardous material and should not be
disposed of in the same manner as
non-hazardous waste. Proper disposal
will minimize the chance of
contamination.

Cis incorrect because the health
assistant should dispose of the dressing
while taking proper precautions.

D is incorrect because the health
assistant should dispose of the dressing
while taking proper precautions.

Health Assisting

Question Correct
Answer
1. | A health assistant finds a B
| dressing dripping with blood
on the floor while in a
patient’s room, The health
assistant should
r
30
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26. A health assistant turns a computer screen away from a family in the doctor's
office. This behavior is most consistent with

A. OBRA
B. WHO
C. APHA
D. HIPAA

27. A health assistant makes an error while charting on paper. To correct the error,
the health assistant should

A
-}

cross out the error, initial, and continue charting

use Wite-Out® to cover the error, enter the correct information over the
Wite-Out®, and continue charting

i

black out the error, write the correct information after it, initial, and
continue charting

D. obtain a new sheet of paper and re-do the charting correctly

Health Assistant Skills

28. The reading on this thermometer is

A. 100.0 degrees
B. 100.1 degrees
C. 100.5 degrees
D. 101.0 degrees

29. When lifting a patient, the type of movement most likely to cause injury is
A. lifting with a full body sling
B. keeping the patient close to the caregiver
€. adjusting the bed to a proper height
D. bending and twisting while lifting

27 Section 5: Sample Questions and Answer Key



£Ba Jamsuy pue suonssnd d|dwIeg 1§ uolIIg 74 A3y Jamsuy PUT SUORSIND B[diuRs 1§ LUoNIas :¥4

J23uEd 10 sjuaned uaals g
S1UIWNIISUI 3|gesodsip uesp ')
sjuaiied 1o} Jisnw apinosd g
SwsIUe210001W [j& A0ASIP 'Y

0} pasn s1 Buinepolny “g£f

SITa N MAIPUY 'Q
pueHONIN uyor D
eA|y-SLIWIS eles 'g
Ue1SEqas BB 'Y

23y ay1 w) 5313 Jeadde pinoys yaiym ‘spaodad [eapaw Juaned Sullly Usym Z€

SVYN 'd
SINOY § 01 § A1gAR g sho|napa
SINOY ¢ 01 Z AJaAs *D) peauind g
Aep e 23m) ‘g yos 'y

Aep e 2ou0 'y

RIp ue/e uo paoe|d aq pINoYs Buimo]ems AJNIIP Yitm Jusned v "TE
Jaied |eso anbas asolewad spoym juajed e s30p UIYO MOH “SE
L

W sLE a
s8a suaned ay ajduep "q qw sgE )
wdudn Juaijed ayl puels D W 00t '8
sidelayy [euoizednddo ay jied g W 05z 'Y

$320s s uaied sy Yo el Y
£199Us O 13 | Y UC PIOID JURISISSE Y BIY YL pINOYS SIBUY|II
Auew MoY 'dNos JO |Moq 20-g UE JO J[EY PUe ‘33403 JO W STT Ajw 4o ssejd
20-5 € JO SPIYI-OoMm} yuedp Juaied ay) “younj Sunes paysiuy isnl sey Juaned v "0

a3 15N
UB)SISSE Y1|B3Y SU] 'UOIIR|NGIE 210434 HBM 0 J3PI0 Ajaide e sey Juaned v “yE

Sunsissy wijesy Junsissy yijeaH



